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/' N Linearized knot diagam
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| \\1(]30 12)
/>\-/ Solving Sequence
9

411-5->12>10>6—>9—>1—>7—>8 >3 — 2> C1,Cr
C4 C11 C2

A knot diagrarrﬂ Clo C5 C9 Ci2 Cg C8 (3

Ideals for irreducible component#ﬂ)f Xpar

I = (u +u 4+ 3u+1)

* 1 irreducible components of dim¢ = 0, with total 65 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u% 4+u+...+3u+1)

(i) Arc colorings

0
ail = \u

1
as = u2

—u
a1z = U

u

a0 = \ud+u

u?+1
as = \ut + 2u2

—ud —2ud +u
ag = W+ 3ud+u

—u® —4u” —3ud +2ud —u
ap = \ w4+ 5u” 4+ 7’ + 20 +u

—u?? — 11?0+ =3t + 1
ar = \u?? +12u%° + - - + 8u* + 3u?

wll + 6u? + 1207 + 8u® + u? + 2u

ag = \ '3 + 7ull + 176 4+ 1667 + 6u® + 5u® + u

—u? —13u?? 4+ —2u? + 1
az = \ —y20 — 14yt + . — 10u®* — 2

—ubY — 32057 -+ 5ud — 2u
az = \ —ub —33u% + -+ 3u +u

(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u% — 4453 + ... — 244 — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ u% 4 35u% - —3u —1
Ca,C7 w1
c3,Cg u® -t w1
C4, C5, C10 Wt b 4 3u+1
C11
Cs u® — 9u* 4 ... — 871u + 109
Cg,C12 0% + 11u% + -4+ 1417u + 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

Cl y65_9y64+.+y_1

Ca,Cy Y% +35y% + ... — 3y — 1

c3,Cp Y% —53y% + ... — 99y — 1

C4,C5,C10 y65+71y64+73y71
C11

c8 Y% —13y5 + ... + 40113y — 11881

Cg, C12 Y% + 4315 + ... — 640031y — 34969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= —0.595719 + 0.5789481

—7.70647 + 11.343401

—8.26251 — 9.404281

= —0.595719 — 0.5789481

—7.70647 — 11.343401

—8.26251 + 9.404281

= —0.599254 + 0.5610851

—8.54295 + 2.417981

—9.80276 — 3.057741

= —0.599254 — 0.5610851

—8.54295 — 2.417981

—9.80276 + 3.057741

= 0.589572 + 0.5709141

—4.51819 — 6.513311

—5.31750 + 6.375381

= 0.589572 —0.5709141

—4.51819 4 6.513311

—5.31750 — 6.375381

= 0.538749 + 0.5695671

—0.93086 — 6.415451

—3.67996 + 9.863511

= 0.538749 — 0.5695671

—0.93086 + 6.415451

—3.67996 — 9.863511

= 0.220912 + 0.7334211

—2.38478 — 6.606931

—2.78190 + 7.820971

= 0.220912 — 0.7334211

—2.38478 + 6.606931

—2.78190 — 7.820971

= 0.569041 + 0.4895431

—4.59319 — 1.953691

—11.39399 + 3.791581

= 0.569041 — 0.4895431

—4.59319 + 1.953691

—11.39399 — 3.791581

= —0.621187 4 0.4182851

—8.96370 + 1.729811

—11.03048 — 3.359661

= —0.621187 — 0.4182851

—8.96370 — 1.729811

—11.03048 4+ 3.359661

= —0.505578 4 0.5472881

—0.07972 4 2.169291

—1.40597 — 3.651421

—0.07972 — 2.169291

—1.40597 + 3.651421

= —0.624357 + 0.3957011

—8.24591 — 7.198061

—9.88810 + 3.211241

= —0.624357 — 0.3957011

—8.24591 + 7.198061

—9.88810 — 3.211241

= 0.613226 + 0.4031011

—5.01179 + 2.417771

—6.90071 — 0.011791

= 0.613226 — 0.4031011

—5.01179 — 2.417771

—6.90071 + 0.011797

= 0.274381 + 0.6684821

—2.83652 + 1.628811

—4.05285 + 1.383141

= 0.274381 — 0.6684821

—2.83652 — 1.628811

—4.05285 — 1.383141

= —0.043462 + 0.7190361

2.69348 4 2.021351

4.11374 — 4.671751

= —0.043462 — 0.7190361

2.69348 — 2.021351

4.11374 4+ 4.671751

= —0.195350 + 0.687690.1

0.60698 + 2.166131

0.97582 — 4.917481

= —0.195350 — 0.6876901

0.60698 — 2.166131

0.97582 4 4.917481

= 0.537336 + 0.3773801

—1.48399 + 2.684741

—5.93567 — 3.098551

= 0.537336 — 0.3773801

—1.48399 — 2.684741

—5.93567 + 3.098551

= —0.463936 + 0.4485671

—0.422225 4 1.2518801

—2.42688 — 4.391071

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u = —0.505578 — 0.5472881
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= —0.463936 — 0.4485671

—0.422225 — 1.2518801

—2.42688 + 4.391071




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = —0.15190 4 1.449671 —2.33616 — 4.482711 0
u = —0.15190 — 1.449671 —2.33616 4 4.482711 0
w=0.14927 + 1.460631 0.981805 — 0.2360821 0
u=0.14927 — 1.460631 0.981805 + 0.2360821 0
u = —0.16115 + 1.465297 —2.88598 4 4.476281 0
u = —0.16115 — 1.465291 —2.88598 — 4.476281 0
u=0.09486 + 1.504507 4.62328 + 0.706571 0
u=0.09486 — 1.504501 4.62328 — 0.706571 0
u = 0.486503 4 0.0345951 —4.82132 — 4.20427] | —10.67761 + 3.894621
u = 0.486503 — 0.0345951 —4.82132 4 4.204271 | —10.67761 — 3.894621
uw= 0.15753 4+ 1.518771 2.03909 — 4.521011 0
w=0.15753 — 1.518771 2.03909 + 4.521011 0
u = —0.12554 + 1.531961 6.27220 4 3.290951 0
u = —0.12554 — 1.531961 6.27220 — 3.290951 0
u = —0.14729 + 1.548507 6.93976 + 4.525661 0
u = —0.14729 — 1.548501 6.93976 — 4.525661 0
u = —0.18149 4 1.5454471 —1.55418 + 5.253951 0
u = —0.18149 — 1.545441 —1.55418 — 5.253951 0
uw= 0.05974 4 1.555751 4.61583 + 0.486591 0
u= 0.06974 — 1.555751 4.61583 — 0.486591 0
u = —0.440342 —1.55260 —7.73470
w=0.17813 + 1.550711 2.53593 — 9.306551 0
w= 0.17813 — 1.550711 2.53593 4 9.306551 0
u= 0.15865 4+ 1.552951 6.15977 — 8.944331 0
u= 0.15865 — 1.55295] 6.15977 4 8.944331 0
u = —0.18134 4 1.553691 —0.6147 + 14.17821 0
u = —0.18134 — 1.553691 —0.6147 — 14.17821 0
u = —0.03741 4 1.575571 8.26236 4 2.919321 0
u = —0.03741 — 1.575571 8.26236 — 2.919321 0
u = —0.00764 + 1.582381 10.48530 4 2.181261 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.00764 — 1.582381 10.48530 — 2.181261 0
u = 0.04591 + 1.584701 5.45364 — 7.499201 0
u=0.04591 — 1.584701 5.45364 4 7.499201 0

u = —0.311030 + 0.2591471

—0.362697 4+ 1.0220001

—5.86257 — 6.202521

u = —0.311030 — 0.2591471

—0.362697 — 1.0220001

—5.86257 + 6.202521




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u% +35u% 4+ —3u—1
c2,C7 ub utt 4 w1
c3,Ce ub — w1
C4,C5,C10 Wt b F3u+1
C11
cs u® — 9uft 4 - — 871w + 109
Co, €12 u 4+ 11u% + -+ + 14170 + 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

Cl y65_9y64++y_1

Cs, 07 Y% 4+ 355 + ... — 3y —1

¢s, C Y% —53y% + ... — 99y — 1

€4, Cs5,C10 y65+71y64+._._3y_1
C11

Cs y®® — 13y%* + .. + 40113y — 11881

cg, C12 Y% +43y%* + .. — 640031y — 34969




